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Let him even be a creditor — 2977 Y2 RONR N0 KD

Overview

The &n> 12 states if someone sold a field for a thousand 11, and the buyer gave him
two hundred 11, if the 1217 retracts, the rule is 731°%977 9v P12 77, he can either claim
back his two hundred 17, or he can claim property worth two hundred 17, from the
. If the buyer retracted, 711°%v77 H¥ 721 7°; he can either return the money, or give
him property worth two hundred 17 from the n>012°1. Our Mo0IN explains the XA,

- 205912512 9977 KOPMINTIR DINPIN 23N H¥9 997 3193 597 2799 AW XY 739 Yan
However, the X723 has no question why the 721 can give him n12% (when the
n1> retracts), for even if the n? will be considered as a n''va, the 0201 here

established his rights according to 790 law, where a 1"v2 collects from ns913° -
- ‘154 N9y 799w KY XONT

For here, the concern of n»7 n%p1 does not apply. Therefore it is understood why he
can give him n*27.

mooIn responds to an anticipated difficulty:
— $PWIIDTD Y YD NYP NN NY NINANNY 6‘["18 157 RY *naY 1999351 YN 99

And when the X723 answered, ‘from the worst of this field’, it was unnecessary
to say that, for there was never any difficulty understanding that the 931 can pay

him from his n>113%7 (the worst of all his fields), as I explained -
= NAY NV 1D NAY NN MDY 99N NY PN NON

! Initially the X3 assumed that the 1> can take two hundred 11 worth of property, from the choicest fields of the
seller (not only from the designated field that was sold). Therefore the X3 asked even if this np17 is considered a
n"y3, he can only collect n°111°3, but not N°7°y.
? In the second case (where the np1» retracted) the 727 can give him (two hundred 11 worth of property) from the
121, Seemingly the 12m ‘owes’ the m1? two hundred o°m1, so he has to repay the loan from n°11°2, not from
N 27 (for N°111°22 1107 1"'v2).
3 The X3 (in 1"¥1 X,1 Pw22) derives from the 7109 (in X°,70 [X¥N] 0°127) of V1AV IR TOR XXV 12 W 30K WK VRN
Txna that Xn7IXT72 a n"va can collect only from the n>12°7 of the M%. The 0o were jpnn that he should collect
from n°111°2, see following footnote # 4.
* n97 no>1 literally means closing of the door. The o*nar realized that if the 1"va can only collect from n>12°1 (which
is the Rn™MX7A 17), they will be reluctant to lend money, therefore they enacted that the 11"v2a can collect from n 2.
However in this particular case there was no loan, it was a purchase, so the concern of n?7 n?°¥1 does not apply here,
therefore it reverts back to the 7710 law that a 1"v2a collects only from n>m21.
5 The x> later retracted (see footnote # 1) that when we say n>7°¥ and n°112°1, we do not mean from the best or the
worst of all his fields, but rather the best or worst sections of this designated field.
% The only difficulty was why the np1> collects from the N> of all his properties (since a i"¥2 is 727 from n°n3,
[and he only owes him for the property of this designated field]), but not why the 721 can give him n>12°1. See
‘Thinking it over’.

1

TosfosInEnglish.com



X% 7"7'01N 2,5y n"2 .7"02

Rather the reason why the X713 established it so (that he collects 712w n™M1277), so
that the case of 73w n>112" should be like the case of 73w naop.’

mooIn offers an alternate solution why the X773 says 72w n°712°m:
- 51159 ST %Y 1PN 25 NYINA 19°P501I N 2N HYAY XIN SWPN NIT 991 9 M) ON

Or you may also say the reason he says 72w n°12"7 is in order that you should

not ask, ‘but we cannot push away a n''v2 with land if the 7% has money’ -
=T BHWMN RDT NON 929V NN NAY H79120 2YN *

So when the X713 answers ;73w 09122 it is properly understood why here the
72171 is not required to pay money -

1Y MYNA 139 'Nonn 01pMmY 29y
For the sale was finalized corresponding to the money which the 1% gave.

Summary
The 121 can either repay the loan 12w n> 2% (since N*M12°12 1"'v2a XNTIRTA), or he

can only repay him 72w n>12°1 (since X¥IR2 jpH00 XY n1''vab).

Thinking it over
1. The X3 asked a second question; how can the f?1? collect 1°012w N*7°vn, since

XTIT 2777 XX X (he only paid for this land). Seemingly this question applies also
to 1°0212W N°712°T (since XNT 2777 XYIR Xi7) so how can he give him 1°0212w n M2°m.
How does '01n explanation (why he does not ask on n>112°7) answer this second
question of the X!

2. How will Xp>X 277 7772 ¥nX 27 (the following answer in the X713), deal with the
issue of 7799 M1 7% MR 3 RYIIN2 11°p50n &Y 211 Hvas xoa2!!!

71t was only said so that the xn*2 should be symmetrical; however in truth (it seems) that the 927 can give him the
n>21 of all his properties, even if they are worse than the n°312°7 of the designated property.
¥ In our case the 7 (who is the 127) has money (for we gave him the option of either returning the money or paying
him off with n*112°1 [otherwise [if he has no money] the X3 should have said, he pays with money, and if he has no
money he can pay n°112°11]); seemingly if he has money he must give the 1"'va money, not ¥pp!
® The 12 (when he is giving him land) is not paying back a debt (for in which case he would be required to pay
with money), but rather he is consummating (partially) their sale. Therefore he can give him land. However if he
would be giving the n*112°1 of all his property, that would not be the finalization of the sale, since he did not buy
those properties, but rather it would be repaying a loan, which must be done with cash, but not with ¥ypap.
' See TN *wIon XK # 20.
"' See TN waon WK # 21-23.
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